University of Louisville Chem 201 Exam 1 Dr. Hoyt Spring 2013
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Scored grade (instructor use only!)

t
1. [4 points] What is the mass, in grams, of 2.30 moles of iodine tribromide? Circle the correct answer. T (26 q

IS('S
515x10°  627x10°  802x10°  0.0111 2.30 89.9 33,. 23 ‘l ‘7
125 159 194 206.8 286.7 366.6 / Wl

446.5 476 659 1030

2.30ml «2EE% - qu3 .

2. [6 pts] Fill in the table below:

Flement Symbol ¢ protons i neutrons electrons mass # charge
Fe 2.6 30 2.3(:2%3)| 50 @%*'”)
O 8 9 10 111 (=2+9) —2.@ 8-10)

3. [10 pts] Give the correct name for each of the following. Spelling counts.

sulfuc Friovide 50, & ke no Charge; gulfile 1om 1 SO
wranium (1) Oide ++U0

Magnesium hydet de “*MgH,

QanA wn L\WOCJ&‘:ONSVQ_, *+Ca(CIO),

?MS?Wrus keichloride *+pCl,

4. [10 pts] Give the correct chemical formula for each of the following.

C: 4 H |0 **butane
Fe,S3 **iron(ITI) sulfide
K MnO 4 ) **potassium permanganate
S La 8 le **diselenium hexasulfide
N (L-z_’ C-‘._ o L‘} **sodium oxalate
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5. [12 pts] Supply the symbol of the correct element for each of the following descriptions. In some cases there
could be more than one acceptable answer; pick one.

A metal in Period 2.7 L‘l ) Bb
The Period 4 alkaline earth element.~ Qo\_,
An element that appears as diatomic molecules. l—l N O F cl 6\" .L

An element that forms cations of variable charge. ww&{'mM.S r('ntm W"-{"L 'U-U-f'l' h z or Zn f’ Lus
Ga,In,TL,Sn e,
An element that does not form ionic compounds. 'L, He, \Jc Ar K-r X& Rn C 3: 6
!

12,¢.5: 6.
An element that forms both covalent and ionic compounds. --av.\lz5 vummd‘d t# ex.uf\’ Groap G J

6. [18 pts] Clearly indicate whether each statement is TRUE or FALSE. If we can’t tell which you mean, it’s
wrong. Sig

Ut The value 0.002042(-)| has five significant figures.

M All diatomic elements are gases at room temperature. %5( D ) I.:,_. D

Al n’®
“rue_  **All isotopes of one element have the same number of protons. isoto re-s hawe Samp ? ‘W

:[I(AL All nonmetals are main-group elements. “Main ﬁfw‘f 29 %(WTS LY, 138,

£ The most likely mass number for a phosphorus atom is 30.97. Mass numlsers must be WL-D[‘-' humbers.
- 304/ s Mum&.zwss

—\'mu 1.0 mole of O, contains 6.0 x 10* molecules.

MHydrogen carbonate anion carries a -2 charge. H QO
+m{J 1 m® = 10° mm® [ = {03MM ([m\)s (\O MM\ lO mm

+mb Together, the ele(c.:trc%ls and prE)t ns in an atom or ion determine the charge.
et +

7. [5 pts] In the list below, (a) circle all compounds that are covalent; (b) draw a square around any species that a-Q L
contain(s) both covalent and ionic bonds. Make sure your answer is clear. ?o\aakom {CTOUS Countain COV w

SO, Fe,0, (NH,);NO,

8. [10 pts]**In the space below, write and balance the equation for the following reaction:
Ammonia and nitrogen monoxide react to produce nitrogen gas and water.

H Ny “GNO — 5N, +6H0




